Short evaluation note: Sakta – task from Latvia
The task: [image: ]














How it worked: 
Students were interested to get to know more about SAKTA via Internet. They found a lot of pictures and chosed one for construction with GeoGebra. I told them that a dynamic construction would be wonderful. 
But it was difficult to get a fully dynamic constructions because some lines were less than a tenth related e.g. to the biggest radius.
Here is one example:[image: ]







Evaluation by talking with the students: 
1. It was a challenge for some students. 
2. Some students –especially girls – liked it. For boys I should give another task.
3. Time of 45 min. was too short. Students finished the construction at home. 
4. Thin spaces between two lines could better be realised by a single thick line. 
5. The knowledge about technic how to rotate different objects in a construction at the same time is important for successfully finishing the construction. 
6. [bookmark: _GoBack]A full dynamic construction is rather impossible and takes too much time. 

Monika Schwarze , January 2018
image1.png
SAKTA
Latvian traditional brooch (SAKTA) - to bring you good luck.

‘The Latvian traditional brooch in the form of a horseshoe or ring shape is the most common jewelery of
Latvians in the late Iron Age. It was made from different materials- bronze, silver and iron. The brooches
differed not only by their size and shape but also their decorations. They might be adorned with red or
blue-colored stones, however the most commonly used gem was amber. Brooches were worn both by
‘women and men. Brooches were commonly used to fasten the neck opening of a shirt or to keep a
shawlin place.

sakta, as they say, holds together the family and relatives. Therefore, it was given and given only to
close people. The Sakta was highly appreciated, every Latvian had it.

“This jewelery has not lost ts relevance in our days.
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